Solutions for In-Class Problems 17 for Monday, April 2
These problems are from Pre-Class Problems 17.
1.
Solve the following exponential equations.
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2.
Solve the following system of equations by using the substitution method.
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3.
Solve the following system of equations by using the addition method.
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4.
Solve the following systems of equations.

a.    
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b.    
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c.    
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5.
A citrus fruit grower purchased 30 orange trees and 20 lemon trees for $360.  The next week the grower bought 25 orange trees and 35 lemon trees for $410.  Find the cost of a lemon tree.
SOLUTIONS:
1a.
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Back to Problem 1.


[image: image12.wmf]Þ

=

-

81

1

27

5

x

 
[image: image13.wmf]Þ

=

-

-

4

5

3

3

)

3

(

x

 
[image: image14.wmf]Þ

=

-

-

4

)

5

(

3

3

3

x




[image: image15.wmf]Þ

-

=

-

4

)

5

(

3

x

 
[image: image16.wmf]Þ

-

=

-

4

15

3

x

 
[image: image17.wmf]3

11

=

x



Answer:  
[image: image18.wmf]3

11

=

x


1b.

[image: image19.wmf]7

2

5

4

=

+

x








Back to Problem 1.
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Back to Problem 1.
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2a.
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Back to Problem 2.
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Back to Problem 2.
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Back to Problem 3.
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Back to Problem 3.
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Back to Problem 4.
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Back to Problem 4.
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Back to Problem 4.
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These two equations are the same equation.

Let 
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Now, use the first equation in the original system of equations to find the value of z when 
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, where t is any real number

5.
A citrus fruit grower purchased 20 orange trees and 30 lemon trees for $360.  The next week the grower bought 35 orange trees and 25 lemon trees for $410.  Find the cost of a lemon tree.

Let o = the cost of one orange tree and let l = the cost of one lemon tree.
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Answer:  $8.00 





       Back to Problem 5.
� EMBED Equation.3  ���









[image: image151.wmf]4

1

44

11

-

=

-

=

x

_1552475096.unknown

_1552920402.unknown

_1572072145.unknown

_1572072489.unknown

_1572073172.unknown

_1572073858.unknown

_1572074616.unknown

_1572074824.unknown

_1572074933.unknown

_1572075026.unknown

_1572075038.unknown

_1572074995.unknown

_1572074882.unknown

_1572074661.unknown

_1572074003.unknown

_1572074037.unknown

_1572074051.unknown

_1572073892.unknown

_1572073627.unknown

_1572073832.unknown

_1572073461.unknown

_1572072593.unknown

_1572072675.unknown

_1572072724.unknown

_1572072640.unknown

_1572072524.unknown

_1572072547.unknown

_1572072499.unknown

_1572072316.unknown

_1572072466.unknown

_1572072159.unknown

_1572072310.unknown

_1572072152.unknown

_1552921348.unknown

_1552921408.unknown

_1571641056.unknown

_1571641107.unknown

_1552921423.unknown

_1552921436.unknown

_1552921369.unknown

_1552921381.unknown

_1552921361.unknown

_1552921283.unknown

_1552921320.unknown

_1552921329.unknown

_1552921291.unknown

_1552921259.unknown

_1552921265.unknown

_1552920826.unknown

_1552921243.unknown

_1552920646.unknown

_1552476054.unknown

_1552476526.unknown

_1552476907.unknown

_1552920035.unknown

_1552920211.unknown

_1552477788.unknown

_1552477796.unknown

_1552477914.unknown

_1552476959.unknown

_1552476754.unknown

_1552476885.unknown

_1552476714.unknown

_1552476684.unknown

_1552476321.unknown

_1552476390.unknown

_1552476430.unknown

_1552476377.unknown

_1552476263.unknown

_1552476306.unknown

_1552476186.unknown

_1552475476.unknown

_1552475914.unknown

_1552476022.unknown

_1552476037.unknown

_1552475950.unknown

_1552475610.unknown

_1552475857.unknown

_1552475504.unknown

_1552475244.unknown

_1552475344.unknown

_1552475400.unknown

_1552475283.unknown

_1552475198.unknown

_1552475220.unknown

_1552475187.unknown

_1540218381.unknown

_1540618104.unknown

_1540790915.unknown

_1552475049.unknown

_1542088535.unknown

_1540791518.unknown

_1540741217.unknown

_1540790347.unknown

_1540741531.unknown

_1540618206.unknown

_1540741210.unknown

_1540218927.unknown

_1540285757.unknown

_1540285801.unknown

_1540614905.unknown

_1540618012.unknown

_1540286062.unknown

_1540285778.unknown

_1540285159.unknown

_1540285168.unknown

_1540218974.unknown

_1540218556.unknown

_1540218871.unknown

_1540218899.unknown

_1540218677.unknown

_1540218518.unknown

_1540218538.unknown

_1540218412.unknown

_1540218137.unknown

_1540218290.unknown

_1540218334.unknown

_1540218350.unknown

_1540218312.unknown

_1540218194.unknown

_1540218224.unknown

_1540218159.unknown

_1540185746.unknown

_1540218034.unknown

_1540218134.unknown

_1540185370.unknown

_1540185581.unknown

